1. Studies about analyzers (as an aggregate nervous receptor structures which provide perception of external irritants)  created:

1. I.N.Sechenov

2. I.P.Pavlov

3. К.Bernar

4. А.Veber

5. G.Fechner
2. Veber-Fehner psychophysiological law: 

1. intensity of feelings is proportional to logarithm of  intensity of  irritant
2. possibility of analyzers is proportional to logarithm of intensity of irritant
3. intensity of irritant is proportional to logarithm of intensity of feelings

4. intensity of properties of analyzers is proportional to logarithm of intensity of mechanoreceptors
5.  intensity of feelings is inversely proportional to logarithm of intensity of irritant

3. Biorhythms on frequency or periods are divided into such groups:

1. small, middle, large

2. prominent, considerable, not considerable

3. high-, middle-, low-frequency

4. weekly, monthly, annual

5. ultra-, circadian, infra-
4. Periodically repetitive changes of character and intensity of biological processes and phenomena in living organisms which are periodically repeated:

1. psyche

2. biological rhythms
3. psychical properties

4. psychical processes

5. psychophysiological  properties
5. In modern physiology  they distinguish:

1. six analyzers

2. five analyzers

3. eight analyzers

4. seven analyzers

5.   ten analyzers

6. Basic types of receptors are distinguished:  

1. mechanoreceptors 
2. chemoreceptors 
3. termoreceptors
4. photoreceptors
5. all answers are correct

7. A skin analyzer consists of feelings:

1. tactile 
2. temperature

3. pain

4. motive

5. all answers are correct
8. In order to determine a danger in the system of co-operation between a man and objects of environment the main or dominant  analyzers are:
1. visceral, olfactory

2. motive, taste

3. visual, auditory, skin

4. vestibular, visual

5. skin, olfactory, taste
9. A factor, action of which results in a trauma or other sharp worsening of health  is:

1. harmful factor
2. dangerous factor

3. negative factor

4. injuring factor

5. there is no right answer

10. A factor action of which results in the disease and decline of capacity for work  is:

1. harmful factor
2. dangerous factor

3. negative factor

4. injuring factor

5. there is no right answer
11. Electromagnetic radiation in the range of waves  0,1-1000 mkm long is:

1. ultraviolet radiation
2. laser radiation
3. ionizing radiation
4. β-radiation
5. γ-radiation
12. Invisible  electromagnetic radiation  with a wave-length from 0,0136 to 0,4 mkm is:

1. ultraviolet radiation
2. laser radiation
3. ionizing radiation
4. β-radiation
5. γ-radiation
13. The manifestation of the ultraviolet lack is:

1. dermatitis

2. conjunctivitis

3. avitaminosis
4. diseases of the cardiovascular system

5. diseases of the gastrointestinal tract 
14. The laser radiation is the most dangerous for:

1. bones

2. liver

3. eyes

4. blood

5.  lungs

15. Protective reaction of an organism on the changes of weather which is accompanied by alteration of its biological systems (as a result a man can feel off) is:

1. hypovitaminosis

2. disease

3. weather sensitivity
4. pain

5. pathological reaction
16. As for  actions on a man negative factors are divided into:

1. active, passive

2. positive, negative

3. harmful, dangerous

4. active, passively-active, passive

5. simple, difficult, derivative

17. Simultaneous distribution of an infectious disease among plenty of one or many types of animals, that considerably exceeds the ordinary registered level of morbidity on certain territory is:
1. epizootic
2.  panzootic
3. epiphytotic

4. epidemic  

5. pandemic
18. Mass infectious disease of plants which is accompanied with mass death of cultures and decline of their productivity on considerable territory during the set time is:

1. epizootic

2. epiphytotic 
3. panzootic
4. epidemic

5. pandemic
19. Among pathogenic microorganisms which can be the agents of infectious diseases of people, animals  and plants they select:

1. bacteria

2. viruses

3. rickettsia

4. fungi

5. all answers are correct

20. Pathogenic microorganisms and bacterial poisons intended for the defeat of people, animals, plants and infection of food supplies and also  ammunitions  are  named:

1.  biological factor

2.  biological weapon
3.  chemical weapon

4.  dangerous factor

5.    harmful factor

21.  People get the most irradiation from the following natural sources:

1. strontium (Sr)

2. radon (Rn) 

3. iodine (I) 

4. cobalt (Co)
5. zinc (Zn)

22. Time  during which the radio-active matter loses the half of the activity is named:

1. period of half-decay

2. activity

3. radio-active radiation

4. power of dose

5. coefficient of irradiation quality 
23. Among the chemical dangerous and harmful factors of the environment heavy metals and their connections are enough widespread: 

1. mercury (Hg)
2. lead (Pb)

3. zinc (Zn)
4. manganese (Mn)
5. all answers are correct

24. The period of half-decay of caesium-137 is:

1. 3 days

2. 8 days
3. 30 years
4. 90 years

5. 3 years
25. Alcohol influences quickly and most  strongly  on the cells: 

1.cerebrum
2. heart

3. liver

4. kidneys

5. vessels
26. What is struck in the first place  with the use of cocaine:

1. heart

2. liver

3. respiratory system
4. nervous system

5. kidneys
27. How many the smoked cigarettes are equal a year of work with the toxic matters (according to the statistic data):

1. 50
2. 100
3.  75
4.  200 
5.  150
28. What percent of adult population of all planet are smokers:

1. 60 % 

2. 20 %
3. 40 %
4. 50 %
5. 70 %
29. Sickly state of a man which is caused with  sharp necessity of  next dose is: 

1. alcoholism
2. drug addiction
3. substance abuse
4. abstinence syndrome
5.  psychical dependence
30. It can appear after the giving up smoking: 
1. headache 
2. dizziness
3. irritability 
4. weakness 
5. all answers are correct
31. The most radio-active element which is contained in  tobacco:

1.polonium-210  (Po-210)
2. caesium-137  (Cz-137)

3. iodine-131  (I-131)

4. strontium-90  (Sr-90)

5. barium-140  (Ba-140)
32. With the use of heroin  drug dependence arises up after:
1. 5 usages

2. 1 - 3 usages
3. 10 usages

4. 4 - 6 usages

5. 7 usages
33. The metabolism consists of processes:

1. internal and external

2. assimilations and dissimilations
3.  positive and negative

4.  synthesis and analysis
5.  balance and disbalance

34. Proteins are the main constituent of all organs and tissues of an organism. What percent do they make approximately  from mass of a man body:

1. 50%

2. 25%
3. 75%

4. 15%

5. 10%

35. Day's necessity of a man organism  in proteins  is:

1. 50-60 mgs
2. 30-50 mgs
3. 50-75 mgs
4. 80-100 mgs
5. 30-40 mgs
36. Day's water necessity for adults is:

1. 1-1,5 l

2. 1,5-2 l

3. 2,3-2,7 l

4. 3-3,5 l

5. 0,75-1 l
37. The dose of toxicity of the chemical matter for a man organism   is measured in:

1.mg/kg
2. g/kg

3. ml/kg

4. mg/mm3
5. gr/mm2
38. In the conditions of radiation contamination day's amount of vegetables in the ration of a man must be:

1. 100-200 gr

2. 200-300 gr

3. 300-400 gr

4. 400-500 gr

5. 500-600 gr

39. What the   food stuffs a man organism  gets 70-80% of radio caesium with:

1. milk
2. meat

3. fish

4. vegetables

5. corn
40. Nowadays in Ukraine the basic source of irradiation (as a result of Chernobyl catastrophe)  which makes 90-95% of total dose is:

1. strontium-90  (Sr-90)

2. caesium-137  (Cz-137)

3. caesium-134  (Cz-134)

4. iodine-131  (I-131)

5. polonium-210  (Po-210)
41. Name the basic way of transmission of viral hepatitis C:

1. blood transfusion
2. through  skin

3. sexual contacts

4. through respiratory tracts

5. through mucous coats

42. Name the basic way of infection of HIV:

1. parenteral  (use of injection drugs)

2. sexual contacts

3. traumas

4. smoking

5.  substance abuse

43. Wound of medical workers  is more frequent during manipulations: 

1. putting of a cap on a needle
2. touch  object to the opened areas of skin

3. sorting of sharp instrument

4. introduction of the system for the intravenous injections

5. taking out of a needle
44. Name defense means  of medical workers which decrease  the contacts with a patient blood:
1. gloves

2. masks

3. protective clothing

4. little caps, kerchiefs
5. all answers are correct

45. What percent of adult population in Ukraine is HIV-infected:

1. 10%

2. 5%

3. 3%

4. 2%

5. 1%

46. With the hit of blood on  skin the risk of infection rises:
1. there is a high titer of HIV in blood
2. the contact is protracted
3. the area of skin (which  blood got on) is large
4. integrity of skin is broken
5. all answers are correct
47. What amount of tuberculoses patients (consumptive) in the world dies annually:

1. 100 thousand

2. 500 thousand

3. 1 million

4. 2 million

5.  3 million
48. In order to prophylaxis what is necessary to apply near nails  before putting on  rubber gloves:
1. 70%  solution of ethyl alcohol

2. 96%  solution of ethyl alcohol
3. 5%  solution of iodine
4. 30% solution of  albucide
5. 3% solution of  chloramyne
49. Name the principal reasons of tuberculosis epidemic in Ukraine:
1. destruction of the network of antituberculosis establishments
2. decline of immune defense of population
3. alcoholism
4. drug addiction
5. all answers are correct
50. When  did the World Health Organization registere the tuberculosis epidemic  in Ukraine :

1. 1990                      
2. 1993                     
3. 1995

4. 1999

5. 2000
51. What are elements the analyzers’  structure:
a) receptor – nerve –spinalcord

b) receptor - nerve - heart

c) receptor - nerve - brain

d) receptor - brain - brain

52. For what kind of analyzers the End bulb refer:

a) thermoreceptors

b) proprioreceptors

c) chemoreceptors

d) mechanoreceptors

53. Which is not a stage of stress response:

a) Behavioral

b) Technical

c) Autonomic

d) Exhaustion

54. Which are the main characteristics of chronic stress?

a) alarm reaction, quick recovery, possibility of saving your life

b) slow recovery, emotional boost

c) constant stress, no recovery, impairing immunity or general health

d) alarm reaction, no recovery, possibility of saving your life

55. The doctrine about analyzers as set nerve-receptor structures that provide the perception of external stimulus, the transformation of their energy into the process of nerve stimulation and its conduction into the central nervous system was founded by:

1. I. M. Sechenov

2. I. P. Pavlov

3. K. Bernard

4. A. Weber

5. G. Fechner

56. Skin Analyzer consists of sensations:

1. tactile

2. temperature

3. pain

4. motor

5. all answers are correct

57. Man has the following behaviors:

1. instinct skills

2. the reaction to stimulation

3. instinct, skills, conscious behavior

4. adequate, inadequate

5. reaction to words, actions

58. Periodically recurring changes in the character and intensity of biological processes and phenomena in living organisms - is:

1. psyche

2. biological rhythms

3. mental properties

4. mental processes

5. psyco-physiological properties

59. The set of interacting formations of  peripheral and central nervous system, performing perception and analysis of information of phenomenon that occur in the environment and inside the organism - is:

1. receptors

2. analyzers

3. homeostasis

4. psyche

5. sensitivity


60. Modern physiology, taking into account anatomical unity and common functions distinguishes:

1. six analyzers

2. the five analyzers

3. eight analyzers

4. seven analyzers

5. ten analyzers

61. Pain, indicating the presence and location of a disease, is called:

1. symptomatic

2. local

3. visceral

4. somatic

5. pathological

62. The ability of the  brain to reflect an objective reality in the form of sensations, perceptions, thoughts and other subjective images of the objective world - is:

1. psyche

2. mental processes

3. mental states

4. mental properties

5. physiological properties

63. In Psycho-physiology Weber-Fechner law is:

1. the intensity of feelings proportional to the logarithm of the stimulus intensity

2. the ability of analyzers proportional to the logarithm of the stimulus intensity 

3. the intensity of the stimulus intensity is proportional to the logarithm of the senses

4. the intensity of analyzer properties proportional to the logarithm of the intensity mechanoreceptors

5. the intensity of feeling is inversely proportional to the logarithm of the stimulus intensity

64. There are the following types of receptors:

1. mechanoreceptors

2. chemoreceptor's

3. thermo receptors

4. photoreceptors

5. all answers are correct

65. In the system of human interaction with surrounding objects the main or dominant analyzers in identifying hazards are:

1. visceral, olfactory

2. motor, gustatory

3. visual, auditory, cutaneous

4. vestibular, visual

5. skin, olfactory, gustatory

66. Symptomatic pains are distinguished by the following types according to the place appearance:  

1. local

2. acute, obtuse

3. visceral, somatic

4. internal, external

5. chronic, acute

67. Short-term processes of obtaining and processing of  information and its exchange - are:

1. mental properties

2. mental states

3. mental processes

4. behavior

5. consciousness

68. Actions, behavior, that are inherited by man - is:

1. instinctive behavior

2. conscious behavior

3. skills behavior

4. physiological properties

5. psychological properties

69. Condition of internal dynamic balance of natural systems, supported by regular renewal of its basic structure, material- energy composition and constant functional self-regulation in all its levels - is:

1. nervous system

2. psyche

3. homeostasis

4. analyzers

5. the regulatory apparatus

70. Perception of objects in two-dimensional and three-dimensional space is characterized by:

1. the field of vision and depth

2. spectral sensitivity

3. the movement of three pairs of muscles that turn the eyeball

4. visual acuity

5. no correct answer

71. The steel of spiritual qualities that are formed in the process of human life and characterize its ability to respond to certain actions by  adequate mental activities - is:

1. psyche

2. mental properties

3. mental states

4. mental processes

5. instinctive behavior

72. Actions which have been developed and are used in learning by automatism or by trial and error or by training - is:

1. conscious behavior

2. the behavior for skills

3. instinctive behavior

4. habits

5. mental states

73. Biorhythms in frequency or period are divided into the following groups:

1. small, medium, large

2. outstanding significant, not significant

3. high-frequency, medium frequency, low frequency

4. weekly, monthly, yearly

5. ultra radial, circadian, infra-radial

74. Behavioral patterns acquired by man in constant environmental conditions, which were formed in the entire previous history of heredity and transferred - is:

1. reflexes

2. unconditioned reflexes

3. conscious behavior

4. instinctive behavior

5. skills

75. Display of relatively long emotional experiences that influence human activity - is:

1. mental states

2. mental properties

3. mental processes

4. psyche

5. instinctive behavior

76. Complex feeling that occurs during stimulation of skin receptors, the external surfaces of the mucous membranes and muscle-tendon unit - is:

1. touch

2. pain

3. visceral pain

4. somatic pain

5. stimulation

77. The highest level of mental representation of reality and human interaction with the environment that characterizes its spiritual activity in specific historical circumstances - is:

1. behavior for skills

2. mental properties

3. psyche

4. conscious behavior

5. instinctive behavior

78. The set of structures in the body that brings together the activities of all organs and systems and ensures the functioning of the organism as a whole in its constant interaction with the environment - is:

1. psyche

2. mental properties

3. nervous system

4. homeostasis

5. analyzers

79. Pain, indicating the presence and location of the disease, is called:

1. local

2. symptomatic

3. somatic

4. visceral

5. receptor

80. Safety is:
1. balanced condition of a person, a state or a society.
2. off-balanced condition of a person, a state or a society. 

3. unbalanced condition of a person, a state or a society.

4. condition of a person who is waiting for danger.
5. condition of a person after arisen danger.

 81. According to the results the dangers are divided into:
1. death.
2. injury.
3. disease.
4. fatigue, decreased performance.
5.disability.

82. Setting the type of danger and its characteristics needed to develop the measures for its prevention and mitigation is called:
1.Danger taxonomy
2. Danger identification 

3. Danger quantification
4. Danger systematization
5. The range of danger

83. The first (catastrophic) category of danger includes:
1.serious injury.
2. stable disease.
3. fatal.
4. disability of the 1st group.
5. disability that requires care.

84. Human security is directly proportional to the indexof the country development: the richer the country is, the more protected person will be. What you will assign to the minor factors that make little effect in creating a safe environment:
1. specific volume of output per capita.
2. average life expectancy.
3. educated population.
4. high level of income, social protection.
5. transportation of people.

85. Danger is:
1. the  result of influence on a person of damaging, dangerous and harmful factors.
2. the situation in the environment that is constantly exists and causes damage to people.
3. the situation or condition that exists in the environment but can result in the release of energy and can damage to people and animals.
4. the condition or situation in the environment that lead to forced release of energy and damage to people.
5. causing harm to people due to the release of energy that occurs during natural disaster, catastrophe, disaster.

86. Classification and systematization of phenomena and processes that are able to harm human health is called:
1. Danger identification
2. Danger quantification 
3.The range of danger
4. Danger taxonomy
5. Danger systematization 
87. The list of names, dates and events that are able to harm, classified according some features:
1.Danger taxonomy

2. Danger systematization

3. Danger identification
4. Danger quantification

5. The range of danger
88. The adopted risk level in the world is:
1.10-5.
2.10-4.
3 10-6.
4.10-7.
5.10-8.

89. What is indistinctive for the definition of life?
1. a form of matter existence.
2. The ability for reproduction.
3. the ability to adapt to the environment.
4. The response to stimulation.
5. the existence ofrespiratory system.

90. The introduction of quantitative characteristics to assess the level of danger is called:
1. Danger quantification 

2. Danger taxonomy 

3. The range of danger

4. Danger systematization
5. Danger identification

91. Any.......under certain conditions can create danger to humans or the environment (substitute the missing words)
1. subject.
2. object.
3. risk and uncertainty.
4. subject, object, phenomenon, information
5. risk, subject, object, phenomenon, information
92. The human brain weighs about as much as a __________.

1. doughnut 

2. 12-pack of soda 

3. Chihuahua 

93. Neurons in the brain communicate with each other by __________.

1. passing axons 

2.  releasing chemicals 

3. instant messaging 

94. When you do something you enjoy, like watch a good movie, your _______ system gets activated. 

1. limbic 

2. digestive 

3. nervous 

95. When someone uses drugs repeatedly, their brain __________. 

1. becomes trained to crave the drug 

2. becomes smaller than before

3. is not changed 

96. After a prolonged period of drug abuse, the brain__________.

1. needs less drug to get the same effect 

2. needs more drug to get the same effect 

3. experiences increasing amounts of dopamine 

97. The brain’s reward system is part of the __________.

1. sensory cortex

2. limbic system 

3. spinal cord 

98. Brain cells or neurons turn electrical impulses into __________. 

1. chemical signals 
2. movement 

3. axons 

99. Drugs work in the brain because they have similar __________. 

1. electrical charges as brain cells 

2. size and shape as natural brain chemicals 

3. nerve cells as the brain 

100. Drugs of abuse create intense feelings because they __________. 

1. depress the nervous system 

2. shut off receptors in the occipital lobe 

3. cause a rise in dopamine in the limbic system 

101. Drug abusers develop “tolerance” for drugs, meaning they need __________.
1. more drug to get the same effect 

2. less drug to get the same effect 

3. neither A or B 
